Foundations of Math 9

Proficiency Check 7.2 — Standard Form

Perform the following operations and write the answer in Descending Order.

Emerging

Emerging

1. Isthe following point a solution to the

equation? (Is the point on the line)

(2,3); 2x+3y=10
‘)(;,\/

AN «Y(3) =10

2. Is the following point a solution to the

equation? (Is the point on the line)

(—1,4); 3x — 5y = —23

-1 - S =-13

_ -3-20 =-23
$+4 =10 ;
X ~23 2-23 o<
2210 el z e,
Proficient Proficient

3. Graph the following equation.

3x — 6y = 18

x y
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4. Graph the following equation.

2x — 2y =12
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Proficient

Extending

5. Graph the following line:

5x + 6y = 30

5(-6)tby = 3O

6. Graph the following line:

*(3r-e)

O |5
=0 kby = Rl X O
Ey = 60 -6 |t
Y:)O
Proficient

Proficient

7. Convert to Slope-Intercept Form: y = mx + b

2x —3y =21
"?4( "?{K
._3‘:'2;(""2/1
=+ 15
—_Zx'-':F
YARRE

8. Convert to Standard Form: Ax + By = C

C/ -8 5
(=% 5
Syiéx’%g
~Sy - Sy

g = €~ gy - 77(3’
2+ 3%
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éx’ é\/ = Sg"
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